# 59 [H

HBERRAR-YREKFERS

Wi 5B AL A

(5£f13410HS8H)

B2 bW (B E ) 1
Yo — 2
T = A 3
N1 —7R— )L 4
INAlr MR — L 5~6
7 hT =R 7
HER 8
V7 MR — v 9~10
OB (Bt ST IE) 11
78 Pl xA—TUBELTED 12
ANAVADENG/4 1 3
7T —F ) — (\TIER) 1 4
I BIE] 15

HEREAFR -V REETEAR




e L B
o B OJE R
AR X5
JIE i Al i B FREE 5T T IRFZ| 35t 15 B A IRs )
1 [8B F5 F L £ 1500m R ETERR2—k 9:50 10:00
2 (B F 40 F £ 1500m  # ERTIRIEFR2—Fk 10:00 10:10
3B F 30 F £ 1500m  # ERTIRIEFR2—Fk 10:10 10:20
4 |1B F 40 F¥ K &™) 100m 7 #:24LL—X 10:20 10:30
5 8 F 30 F & (w-m) 100m 7 " 10:30 10:40
6 [Z F 30 F L £ (n-n) 100m # " 10:40 10:50
78 F b % & (n-n) 100m # " 10:50 11:00
8 |[& F & F & (v-n) 100m 7 " 11:00 11:10
91858 F /N B & (n-m) 100m RiFL—X 11:10 11:20
10(x F /N ZF & (n-n) 100m " 11:20 11:30
MIB F29% LT (w-m) 200m R W:AALL—R 11:40 11:50
12| F29F LT (mw-nm) 200m " 11:55 12:05
Blx F & F &£ (v-n) 800m " 12:15 12:25
14|85 F # 2 % 1500m # ERTiERRA2—k 12:30 12:40
58 F29F LT 1500m # ERTiERRA2—k 12:40 12:50
BlXFERELULE 1500m  # ERTIRIEFR2—k 12:50 13:00
17185 F /N F &£ @/ 4X100mR # TH: 24 LL—X 13:05 13:15
18| F /N % &K (n-n)| 4X100mR » H: A4 LL—R 13:15 13:25
19 |5 F (n-n)| 4x100mR # TW:2ALL—R 13:25 13:35
20 |& F (n-n)| 4x100mR # T :HALL—R 13:35 13:45
7 14—V NEEE:

e} 1 ball (i B R TE T R i B AR IRF )

B F29F LT (F-T) EF & B 0:30
T F B Z &K (v-n) £ ME Bk 10:00

B F29F LT (n-m) fa h & 9:40
) X F29F LLTE (n-m) fa A & 1040 1100

x F 30 F LLE (n-m) fa A &
3B F & F & (n-n) £ WE Bk 10:40 11:10
4 & F29F LLTF (w-m) E & B 11:30 12:00
5 B F30-40FHFE (n-n) fa L & 1150 1210

B F5 F L £ (n-m) fa &
6 |[B F 30 F & (w-m) E ME Bk 11:50 12:20

I
—h




FEOOEBERERRAR—YKRE

Hyh—iRE

SHMSE11H7H-14H
A REHYyh—i—5

(78) B FRIBEHHTEFYH—REITT L
(148) A FRBHHTEYVHI—REDT LA
[FADER] (78) BRI 7THRES
(148) £BZOKZTHIONES
A 3
13:30
Al 2
14H 9:30 11:00
B 3 B 2 A 2 A3
78 12:00 10:30 10:30 12:00
B 1 Al
9:00 9:00
1 2 3 4 5 6 7 8 9 10
* X g = # = #Rl % ;D) 7
£
n H % 3] W 3 4 3] 1B &
[BRDE] (148) c KFYvh—/—5
148
(148) &5%8HES
C 3 EER
10:00 1R ER
1 2
& =
;4 E3



FEOEBFRERAR—YRE %:Xﬁﬁ?i
SHM3E11878
ALSOKCAFEMRERAR—Y U 2—
T=—Xa—}k

GOk Y

24u

3L

3L

541

51

51

51

ofi

ofi

10 " 12 of
2 fE i3 #

w
S
()}

® -
m o~

¥

>

o4
B o
W~
o
©

ofiL

(#DE]

1431

24

3L

3L

#

m —
&=
IH e



EEOEBERRERAR—YX=

(BF #HA—T]

INL—R— LB

#M3EFE11A 148
ALSOKSCAET)—F

B4
A2 B3
Al B2 B1
1 2 3 4 5 6
3 #il A = X tF
£
3 15 2 U5 2 U5
[%F BHA—T]
D4
C2 D3
C1 D2 D1
1 2 3 4 5
# 3 = tF X g
£
il ) I I H ES

&

i’

o~

a

KAV ARV EFMBRIZOVTIX, FE1R SOV TKE2HE IS LUBORESIZOVLWTIXETFF—L

_4_



E5oEBERRIR—YRE INART YR R— LB

118 78 ALSOKSCAFETY)—F
11148 ®mATHEFEE

( YDEREE, £EF—LD ARERRM

GO
8 F

AQ 11A14H
(12:156~12:45) @ 9:30

@ 11:15
14H AD B® ® 13:00
(8:45~9:15) (8:45~9:15)

i
S
H
g
S on
I} &
b

Hr
H
s
]
s
H

118148

14H AQ ® 9:30
(10:30~11:00) @ 11:15

AD B® c®
(9:15) (9:15) (9:15)

(9:45) (9:45) (9:45)

®-
>
o~
i
S

H
]
H
s
Hr

n 73



E5oEBERRIR—YRE INART YR R— LB

11A14H8

EETHEEAREE

(

5 F
14H
B®
(12:15~12:45)
1 2
H 2
€110 1)
X F
14H B®
(10:30~11:00)
1 2
it 2
B

YDEREE, £EF—L D ARERRM

11/14
@ 930
@ 11:15
® 13:00

11/14
@ 930
@ 11:15
® 13:00



EOOREBERRAR—YKRE

YIMTZREEH

SH3%E11814H

ALSOKSCAFEREBERR—Y L 2—
T=R3—h

145
243
[FDER) 3
AfL
5L
64iL
7L
8fiL
] o
10431
1 2 3 4 5 6 7 8 9 10 1 12 e
i 88 = # X A # B £y = ] i =
12431
£l E
3 ® ] Y H H n 15 th 3 == ]
3-441 5-?& 7-841 9-1|O1Ii_ 11-124%
[(EBDEB]
AZOvH 1d B K|l &8 |3 & AR = [1:{iva
1 it B 5 — 1452
2 =) # — — 2
3 & K — 3
Eiva
B7AvY 4+ B |5 Fi iR|e & 2| RaBA B [1:{iva
54
4 EF E3 —
64z
5 F i) — —
6 H EY —
1-24% 3-441 5.6
A B A B A B
» » » » » »
1 1 2 2 3 3
v v v v v v



ES59EBEERAR—YKRE
3 rxr
B Ok B OB
SH3E11F 78 (B)
BT EIASEE

[hDER)
1431
13:00 N
é Q) 6 2{i1
11:15 11:15 N
D2 @ 3
9:15 9:15 9:15 9:15 N
D@ @@ Q@ ON) Afsz
5L
1 2 3 4 5 6 7 8 v
# 23 Ail 7 % = X H 74
£ o
2 & 81t
753 il ¥E i )i 73 H Y
344 5. 61 7- 8f
13:00 1io 13:00 %
! : : él ,g =
00 @® o ?ns%%i%
11:15 11:15 - 10 Piak
9@ O @ HEa—+
(5) (6] (3) (5] (9]
) ) ) ) ) ) ) )
B B B B B B B B
& &
[ERDER])
ITE#E | R EE |HaBE| B= NE 3% 145
A — — 24
2 & g — — 34z
3 B = — —
HEIEF
FE—HE
2%t 3
9:15 GO
£oHa
13 E—HEDKE
11:15 ©®
E=HE

13 F—HEOHE
13:00 ®®

_8_



ESOEBEERRA—YAS JIhR—ILEEE
SHI3E11H7H-14H

AT EHER/ KNI SUF
A B

[ DE)
5 ¥ |
A
@
148 ® 900
® 10:30
5 5 ® 12:00
A B A B
78 ® @ o) @
1 2 3 4 5 6 7 8
B 8 = 3 # # 3 1
& o
5 s i A Y i il 4
SM3F11A7H-14H
HETRE TR/ KNI SR
B C D
GHOL D!
& F
B
@
14H @ 9:00
@ 10:30
® & ® 1200
C D C D
7R ) @ @ @
1 2 3 4 5 6 7 8
= B @ £ X iR 2] =
o
] 15 2 " | 4 | U5



ESTEBERERRAR—YKRE

JIR—ILEER

SHM3E11A14H
BT EFER/ RINTSUE
A B

[EBnER] @ 9:00
B F @ 10:30
8 ® 12:00
14R
A B
©) ©)
1 2 3 4
it =) Fl E
B
-3 b3 i) E=:
SH3FE11H814H
[BDH] RIETEFER/ RINT SR
X F C
148 |NO 2 =] 5 AR ] a |- ® 9:00
1 I — — @ 10:30
® 12:00
2 E = B B
3| ® O B B
HEAlE
c® No1 g ® s No2 F =
Cc® NO1 8 »* NO3 F iR
c® No2 & = »* NO3 F iR

_‘IO_



FEEEBEFERRAR—YKRE

BEmE

SH3E11A7H

ALSOKSCAFERERR—Y L 2—

CAFHRERE 5ES

BHLRFE SLIE
1T B |
2 & H
3 #HEY
4 FPgB
5 W %
6 K H
7T B B
8 B
9 & N
10 &® &
" fE
12 #1 #8
BHLRTE
SLIE
1T &5 K
2 B X
3 L#E
4 ® R
5 B ¥

(FnE]
8 7 4 3 2 1
€10
4 2

_‘I‘I_



A Irxr
EEoEBERRAK—vAe ZEFIEERIL
SHM3E11814
ALSOKS AFE#

=]
BERR—YE 42—
CAEFREE KE

15 F2ES

B F
(FD]
1 2 3 4 5 6 7
= s = % ] £ f
%gl,
& i I h 1 # 5
(2]
|
1 2
& =
e =
A—J%EH
(% F 0]
1 2 3 4 5 6
= = | £ = f
%gl,
= I 1 4 B 5



FE59EBERERAR—YKRE

RO TR L— VB AR

SHM3E11H7H(H) IASILRARIIL

B 8:45~10:30.7 % 10:40~12:25

8 ¥ 2 F w A
X 45| No. | LN EEs R 3= | LN EEEa
7 Bom g D vl | BEOR || 5 O | BEER e e ols o me
~|BIERF| BT | BE | A5 ~|BIEEREF| BT | BE | &5
1] g2 | — | 12|17 — |11 18
2| B oM | —|14]19 — 1 13]20
3| ®f B | — | 16| 11 —115]12
4| B H —|18]13 — |17 14
H
51 &~ &£ 0 — [ 20] 15 — [ 19] 16
6| M1 A | —|22]27 — |21 28
1)
71 B I — 24129 — 123130
8| & F | —|26]21 — |25 22
B
ol = m | —|28]23 — |27 24
10| & & | —|30]|25 — 1291 26
11 — — | — | — — ==
12 — — | —|— —| =1 =
1 Fl AR — | 2|7 — |1 1|8
Blol B 2 | —4a]o9 — | 310
3| H o om | —=|—=]- — |52
D|lald Bt E|—]|8]3 —| 714
5| & W | —|10] 5 —1 9|6
mie| — |—|—|— ||
7 — JR— — — J— — —




goomEBRRAK—vAe P —F T!)—RRHITIER

(hDER] SM3FE11A78
ALSOKSCAFEHBEAR—Y L 4— 7—Fz')—15
A EEREI T S - S——- EI B
2 [ c A] RC
1 C i RC [0
ATAE 3 |C A] RC
4 C ES RC =1
R A RC
6 [C A] RC
7 C ES RC {iL
=15 8 |C a1 RC
9 C ES RC =1
R RC
4 [ A A] RC
5 A ES RC {iL
R
=1
WX
6 [ B A] RC
7 B ES RC {iL
XH 8 B ES RC
9 B ES RC =1
R A RC
6 [A A] RC
7 A ES RC {iL
fEM 8 A = RC
9 A ES RC =1
R A RC
6 | D A] RC
7 D ES RC [0
=N 8 D ES RC
9 D ES RC =1
R A RC
10 | A ES CP
L
A&
=1
WX
2 [ A A] RC
3 A ES RC {iL
= 1 A | RC
=1
WX
2 | D A] RC
3 D ES RC [0
= 4 [ D A RC
5 D ES RC =1
R A] RC
(EBDER _
AR — — [ FRIREL
B A] RC
3 B ES RC {iL
SRS 4 B = RC
1 B i RC =1
WX

-14 -




FE5EHEERIAKR—YKE

B

B X

FHSF11A7H
LAESIRR—YT)—F (FREH)

LiE: g AItE S I tE#E B E AR E IR £z
1 HI4E — —_— —_
2 =1 —_ S -
3 gl — —_— —
3 el :c3: —_ — -

_15_




